
Attention:Don't tighten the screw before all screws are in place

USER'S MANUAL

WF315416

1



2



6

3

7

7

1

11
10

36

31

8

16

23

22

14

12

17

34
18

19

25

25

21
24

20

15

13

21

27

26

26

37

22

33

4

5

5

32

1

28

30

3



1 X1 3 X1 4 X1

5

935*330*15(MM)

X2 6 X1 7

935*300*15(MM)

X2

300*15*15(MM)

8 X1

300*15*15(MM)

10 X1 11

330*330*15(MM)

X1 12

300*320*12(MM)

X1 13

330*330*15(MM)

X1

950*330*15(MM) 935*135*15(MM) 790*330*15(MM) 790*330*15(MM)

4



X1 X1 X1X1

755*300*15(MM)740*300*12(MM)

X1 X1 X2X1

22 X2 X1 X2X1

740*300*12(MM) 300*300*15(MM)

605*295*15(MM) 300*300*12(MM) 395*145*15(MM) 280*80*15(MM)

280*80*15(MM) 245*80*15(MM) 275*253*3(MM)

23 24 25

300*15*15(MM)

14 15 16 17

18 19 20 21

5



26 X2 27 X1 28 X1 30 X1

930*15*15(MM)

31 X1 32

930*330*15(MM)

X1

790*15*15(MM)

33 X1 34

300*150*15(MM)

X1

36

300*135*15(MM)

X1 37

300*135*15(MM)

X1

500*130*15(MM) 300*300*12(MM)

415*80*15(MM) 425*275*3(MM)

6



A B C D

20PCS 20PCS

E F

M3.5*14

G

32PCS M6*28

H

18PCS

M6*10

I

8PCS M6*23

J

4PCS 2PCS

K

M5*40

L

30PCS

2PCS 3PCS

CL CR DL

6PCS M4*16

DR

6PCS

CR
DR

CL DL

2PCS 2PCS 2PCS 2PCS

7



M N O P

M5*50

Q

2PCS 1PCS 4PCS 1PCS

2PCS

R

1PCS

8



Step 2

Step 1

 C      X8

14

15

31

32

CR

CL

C

C

C

C

C

C

C

C

CRCL

C

C

CL      X2

CR      X2

14

15

20

33

10

A

A

A

A

A
A

A
A

A
A

A
A

A    X20

A

A

A

AA

A

6

A

A

9



Step 4

Step 3

D

D

D

D

12

13

25

25

D      X4
K

K
K

K

D

K

K      X4

K

K

26

26

28

13

12

D

D

D

D

H    X4

D    X4

K    X2

D

K

19

H

H

H

H

10



Step 6

Step 5

8 I

I

I    X2

1

D

D
D

D

D    X4

8

12
13

D

28
1

11



Step 7

28

E

E

15

12

E

E

13

E

E X4

12



Step 8

H

11 H
H

M

12
13

F

28

27 M

F

H

M

F

X2

X2

X2
13



Step 9

30
32

31

10

B

B

B

B

B

B

B    X6

10

30
32

28

26

13

14



Step 10

H

H

H

H

H

H

27
28

10

H    X6

H

H

13

12

15



Step 11

17

15

B

B

12

B    X2

16



Step 12

B

B

E    X4

E

E

E

E

E

B    X2

14

12

13

17



Step 13

D

3

1

D

H

D

H

D

5

5

H

D

4

H

D

1

D

D

H

X6

X4
18



Step 14

6

3

1 F

7

7

E

5

E

E

5

E

2

4

F

F X2

E X4
19



B X2

B

Step 15

6

3 

H 

H

10

H

11
H 16

H

28
H

H

H X6

B

20



Step 16

18

J

L

L

G

G

C
C

C
C

G

C
C

J    X1

C    X4

L    X2

G    X2

21



Step 17

C
C
CC

C
C

C
C

14
18

C
C

C
C C    X8

22



Step 18

P

Q

Q

O
O

O

14

34

O

15

P

Q

O

X1

X2

X4

O

23



Step 19

J

J

L

L

C

C
C

C

N

20

33

N C
C

C

C

L
L

J    X2

C    X4

L    X4

N    X1

33

20

22

22

21

21

B

B

B
B

B

B

B

B

Step 20

B    X8

24



Step 21
21

21

33

20

20

33

22

22 37

24

23

36

H

H

22

22

21

21

H

H

H

H

H

H

H

H

H    X8

DL

DL

DR

DR

C

C

C

C

C

C
C

C

20

21

33

21

36

23
C    X8

DL    X2

DR    X2

DL

DR

25



Step 22

N

N X1

N

26



Step 23

27



Step 24

R

R

R

WALL

WALL

WALL

R X1

R

R

28


	图纸和视图
	WF315416AAK说明书-布局1 (2)
	WF315416AAK说明书-布局1 (3)
	WF315416AAK说明书-布局1 (4)
	WF315416AAK说明书-布局1 (5)
	WF315416AAK说明书-布局1 (6)
	WF315416AAK说明书-布局1 (7)
	WF315416AAK说明书-布局1 (8)
	WF315416AAK说明书-布局1 (9)
	WF315416AAK说明书-布局1 (10)
	WF315416AAK说明书-布局1 (11)
	WF315416AAK说明书-布局1 (12)
	WF315416AAK说明书-布局1 (13)
	WF315416AAK说明书-布局1 (14)
	WF315416AAK说明书-布局1 (15)
	WF315416AAK说明书-布局1 (16)
	WF315416AAK说明书-布局1 (17)
	WF315416AAK说明书-布局1 (18)
	WF315416AAK说明书-布局1 (19)
	WF315416AAK说明书-布局1 (20)
	WF315416AAK说明书-布局1 (21)
	WF315416AAK说明书-布局1 (22)


